Corner Mounting Bracket

aviGciLon

| |
| |
" (=)
= i e S
1\ ’
- - - 23
y.
- -~ - -
L) -

MNT-AD-CORNER  Aluminum corner mounting bracket for dome cameras using Pendant Mount Brackets and HD Bullet Cameras

Weight: 1.06 kg (2.33 Ibs)

Female inserts Included components for Avigilon camera and accessories:
Compatible with: . 4 x Hex head bolts (3/8” — 16 x 17)
Pendant mount bracket (MNT-PEND-WALL) . 4 x Lock washers (3/8”)
HD Bullet Cameras (H3-BO-IR) . 4 x Flat washers (3/8”)
HD Bullet Camera Junction Box (H3-BO-JB) . 4 x Hex head bolts (M4-0.7 x 30)
Wall mounting hardware not included . 4 x Lock Washers (M4)
Cool gray 2 . 4 x Flat washers (M4)
[2.5]
62.9
[0.4]
11.2 (2]
[0.4] [1.0] 5038 [1.0]
10 25.7 25.7
[8.5] @ ¢ ii 0= ‘ "1 0 0
o 215.8 + 4+ 4 4
L @ @ 4 @ T
@ 3 \ [4.6) (551 (2.4 I - N
0] 17 139.7) 60.3
) g @ ¢ + + | + 4+
oo © 4 b 0 /e le |°°
[5.9] 254 ®4[0.157] X8
150 ) ©26.52[1.044]
35.4 ©10[0.394] X 4
2.9
739.9
‘ [X.X] ‘ INCHES ‘
X [ owm
SUPPORT 1.888.281.5182 | sales@avigilon.com | avigilon.com MNT-AD-CORNER

15 Avigilon Corporation. Al rights reserved. Unless expressly granted in writing, no license is granted with respect to any copyright, industrial design, trademark, patent or other intellectual property rights of Avigilon Corporation or its licensors.

AVIGILON, HDSM, and HIGH DEFINITION STREAM MANAGEMENT (HDSM) are registered and/or unregistered trademarks of Avigilon Corporation in Canada and other jurisdictions worldwide. Other product names mentioned herein may be the unregistered and/or
registered trademarks of their respective owners. ™ and ® are not used in association with each trademark in this document.

ACCESSORIES



